Position these numbers on the number line:
/ 18 22 26 34

0 10 20 30 40

For each number, which is the closest 10?
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Rounded to the nearest 10p, Max has 50p.
Rounded to the nearest 10p, Ben has 80p.

Q1: True or false: Max could have 54p.
Q2: What is the smallest amount of money Ben could have?

Q3: Possible impossible: Ben could have 25p more than Makx.

Rounded to the nearest 10p, Max has 50p.
Rounded to the nearest 10p, Ben has 80p.

What is the smallest possible difference between the amount of
money Max and Ben have?

What is the largest possible difference between the amount of
money Max and Ben have?
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